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Notes:
(@)
M1 Complete method using suvat to find t Condone sign errors and sin/cos confusion
Al Correct unsimplified equation in t
Bl Correct expression in u, @andt for the horizontal distance travelled. Seen or implied.
M1 Obtain expression for distance in terms of u and &
Al* Correct justification of given answer from correct working.
(b)
M1 Use given formula or complete suvat method to find inequality in &
Al 71° or 70.6°




(©)

M1 Use suvat to form an equation in t. Condone sign errors and sin/cos confusion
Al Correct unsimplified equation

M1 Solvetofind T

Al 2.0 or 2.01only




